G (4).2

(mod 7)

blocks | defect matrix
G 1 1 7x6
2 1 7%x6
3 1 7xX6
4 0 3501 = X6,0, 6,0
) 0 3502 = X6,1, 6,1
6 0 3641 = X7,0, 7,0
7 0 3642 = x7,1, 7,1
8 0 3643 = Xx5,0, ¥8,0
9 0 3644 = x8,1, 8,1
10 0 3781 = X9,0, P9,0
11 = ﬁ 0 3782 = X971, (,09,1
12 0 16381 = X114 P11+
13 0 16382 = X134, P13+
14 0 13651 = X16,0, ¥16,0
15 0 13652 = x16,1, ¥16,1
16 0 65521 = X204+ P19+
17 0 65522 = X224, P21+
18 0 81901 = x24+, P23+
19 0 81902 = x26+, P25+
20 0 94501 = X30+, P27+
21 0 54601 = X32,0, ¥29,0
22 0 54602 = 32,1, P29,1
2.G: 23 1 7X6
24 1 5x3
25 0 3645 = X36,0, 33,0
26 0 3646 = X36,1, ¥33,1
27 0 5601 = X37,0, ¥34,0
28 0 5602 = x37,1, 34,1
29 0 12601 = x38,0, ¥35,0
30=29 0 12602 = x38,1, ¥35,1
31 0 36401 = X414+, P38+
32 0 20161 = 43,0, ¥40,0
33=32 0 20162 = x43,1, P40,1
34 0 43681 = X44+, P43+
35 0 32761 = X46,0, P45,0
36 =35 0 32762 = X46,1, P45,1
37 0 116481 = X534, Pas+




Block 1:

PY1,0 ¥3,1 P40

¥5,0

$10,0

$17,0

11 =x1,0

782 = X3,1
3001 = X4,0
3003 = x5,0
6501 = Xx10,0
29251 = X190
40961 = X280

1

Block 2:

P1,1 P3,0 P41

¥5,1

¥10,1

Y171

Io =x11

781 = X3,0
3002 = x4,1
3004 = X5,1
6502 = Xx10,1
29252 = 19,1
40962 = X281

1

Block 3:

Y20 ¥2,1 Y150

$15,1

©18,0

©18,1

651 = Xx2,0

652 = x2,1
13001 = x15,0
13002 = x15,1
58501 = x17+
41601 = x29,0
41602 = x29,1

1

Block 23:

©30,0 $30,1 $46,0

46,1

47,0

Y471

121 = x33,0

129 = x33,1
36002 = x47,0
36003 = x47,1
78001 = X504+
74882 = X55,0
74883 = X55,1

1

©1,0
©3,1
©4,0
¥5,0
¥10,0
$17,0

®1,1
©3,0
P4,1
®5,1
$10,1
P17,1

©2,0
Y21
©15,0
$15,1
©18,0
©18,1

30,0
¥30,1
$46,0
P46,1
$47,0
Pa71

782
3004
3003
649,
2847,

781
3002
3004
6492
2847,

651
65
12354
1235,
2925,
2925,

124
129
36001
3600,
38881
38882



Block 24:

P31+ P36+ P41+

2081 = X34+
36001 = x394
74881 = X8+
40963 = Xx52,0

40964 = x52,1

1 : : P31+ = 208
1 1 ‘ w36+ = 33921
. 1 1 pa1+ = 4096,
. 1
1




